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49.5

13.J

68.1

61
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at

24
28
24

24

28

148

12291

23.28
19.74

22.57

21.22
23.28
19.87
19.74
16.22

22.57

122.91

S.D.

4.26
3.35
4.40
3.30
3.46

4.85

16.42

21.22
19.87

16.22
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( = 210)
111 - 148 166
74 - 110 40
37 - 73 4
3
79

19

79.0

19.0

2.0

63



1 (
X

? 19.13
21.17

22.40

16.26

' 19.38
21.65

119.99

* P < .05

64

= 127) ( = 83) i
S.D. x  S.D.

358 2067 8 -3.66*
438  21.30 4.10  -0.23
3.46 2463 269  -5.23*
325  16.17 3.77 0.19
464 2061 3.93  -2.00*
549  23.99 3.18  -3.91*
17.36  127.37 13.82  -3.41*

.05
[
.05

.05



25 - 35 36 - 45
1 ( 17) ( =69
X S.D. X S.D.
20.12 2.20 18.30 4.08
21.18 3.15  20.38 5.49
1 22,12 3.66 2222 3.98
16.76 1.64 16.29 3.13
' 21.35 2.47 20.36 3.99
20.00 5.42 21.19 5.05
121.53 14.77 118.77 17.68
* P < .05
5
46 - 55
36 - 45
3
25 - 35 36 - 45

46

(
X

20.48
21.59
24.03
16.11
19.39

23.69

125.40

65

55
124) F

S.D.
2.62 10.74~*
3.50 2.14
2.68 8.15*
3.80 0.28
4.76 2.17
4.32 9.20*
15.52 3.78*
25 - 35
-05
46 - 55

>05



25-35
36-45
46-55
25-35
36-45
46-55
25-35
36-45
46-55

25-35

36-45

46-55

* P < .05

36 - 45

(Scheffe's method)

25 - 35
( =17

(X=20.12)
(x=18.30)

(x=20.48)

(X=22.12)

(x=22.22)

(X=24,03)

(X=20.00)

(X=21.19)

(x=23.69)  3.2987*

(X=121.53)
(X=118.77)

(x=125.40)

.05

46 -55

36 - 45
(=69

2.2281*

2.2912*

3.2987*

11.4595*

46 - 55

36 - 45

46 -

(

46

66

55

124)



46

36 - 45
36 - 45
46 - 55
.05
55

25 -

35

25 - 35

.05

46 -

55
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* P < .05

( = 104)

19.07 3.35
21.03 4.27
22.49 3.48
15.23 4.02
19.19 4.91

21.90 4.91

(
X

19.71
20.21
24.29
17.57
19.76

21.52

118.93 17.07 123.07

= 42)

S.D.

3.96
5.25
2.87
1.99
4.50

4.90

15.27

(
X

20.81
22.64
24.75
16.78
21.00

24.56

130.53

.05

= 36)
S.D.

2.51
3.03
2.66
2.62
2.75
4.40

14.05

(
X

20.89
21.61
22.82
17.18
21 .07
24.07

127.64

68

= 28)

SD

2.17
3.55
3.46
2.82
3.55

4.12

14.27

4.01*
2.30
6.09*
6.48*
2.36

4.43*

5.76*
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(Scheffe's method)

(=104 ( =42) ( = 36

(X=22.49)

(x=24.29)  2.2862*
(X=24.75) 2.2862*

(X=22.82)
(x=15.23)

(X=17.57)  2.3530*
(X=16.78)

(X=17.18)
(X=21.90)

(X=21.52)
<x=24.56) 3.3444*

(X-24.07)

(

= 28)
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(Scheffe’s method)

)
( =104) ( =42) ( =36) ( =28)

(X=118.93)

(X=123.07)

(X=130.53) 11.2335* -

(X=127.64)

* P < .05

-05

.05
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9
t
0-5 7 - 24 24
( = 11 ( = 56) ( = 143) F
X  S.D. X S.D. X  S.D.
21.09 2.43 21.02 2.30 19.13 3.52 8.08*
22.64 2.34 2129 3.93 21.08 4.49 0.69
25.55 2.38 2445 228 22.65 3.57 9.09%
' ! 17.18 0.87 17.32 3.68 1572 3.39 4.94*
1891 4.57 21.05 3.54 1948 463 2091
25.00 4.02 2373 3.81 21.93 514 4.38*
130.35 14.43 128.86 11.75 120.01 17.38  7.48*
* P < .05
9
! .05
0-5 7-24 24 {
! .05
0-5 7-24

24



24

.05
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[Tk

0-6
7-24
24
0-6
7-24
24
0-6
7-24

24

0-6
7-24

24

* P < .05

7-24

10

list 24

24

CScheffe'

(X=21.09)
(X=21.02)
cx=19.13)
(X=25.55)
(X=24.45)
(X=22.65)
(X=17.18)
(X=17.32)
(X-15.72)

(X=130.36)
(X-128.86)
(X=120.01)

method)

56)

75

24
( = 143)

2.2546*

2.2816*
2.2816*

2.3990*

11.2671*

.05



24

24

.05

24

.05

.05

76

24



21.87

11

32.61

40

36
32
28

40

36.26

33.62
28.10
21.87

32.61

36.26,

S.D.

4.26

4.16

4.01

3.70

6.52

33.62,
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R2 change

a

S.E.b

.E.est
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détermination)

(F)

(Coefficient of
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12 iin

Sex Age Ed. Leng HIP Earn.React. Env.p. H.s.p. Pers. Resp.
(Sex) 1.000
(Age) . 242* 1.000
(Ed.) .099 -.006 1.000
(Leng) -.140* -.073 -.161* 1.000
(111P.) .840 221* -.135* .013 1.000
(Fain.React.) .025 .095 -.047 - . 266 241* 1.000
(Env.P.) -.032 . 287* .193* -.252* .086 . 190* 1.000
(H.S.P.) -.095 . 128 .085 -. 119 .315* .230* 141* 1.000
(Pers.) .174* LA7T* AT4* -.233* . 109 .346* .315* .261* 1.000
(Resp.) .220* . 143* .275* -277* A447* 212% . 338* .298* .515* 1.000

P < .05
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.220, .143, 275, 212

.05

{
(r = .447, .338 .515
p
1! )
(r =-.277)
! .05
(r = .242 174
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Cr = -.140)

.05
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(r = .193) ff
(r = ,474) .05
«
!
) ! .05
é
(r = -.266, -.252 -.233 )
% «
(r = .241)

.315)
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-
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221,

.287
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A77
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-.161
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81

-.135

.05
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82

(r = .190
.230 ) { {
(r = .346) ) .05
{ {
? )
(r = .141) ff { {
(r = .315) % ' .05
{ { AN {
{ {
(r = .261) ) .05
{ { ?)
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»

13 » () (B)
1 # 1 »
B S.E.b t S.E.b T
» » .3433 .8650 1651 5.241* 10.778 2.647*

4165 1.6062 .2137 7.517*
-.1451 .0277 .0103 -2.677*
.1829 7494 .2303 3.254*
1379 4.6206 1.8079 2.556*
.0848 .2945 .2084 1.413
-.1071 .2292 1182 -1.940
.0738 3272 .2454 1.333

-.0870 3434 2274 -1.510
R = .7118 E.. gt = 11.7905
R2 = .5066 a = 28.5284
Overal] F = 22.8191*
* P < .05
13 » 9

.05
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»

» »

.3433,

5066 (R2 = .5066)

» 9

4165,

»

(B)

-.1451, -.1451,

(B)
1829

50.66

7118

1379

»

84
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Pers.

Pers.

Pers.

Pers.

Pers.

Pers.

14

nipP.
JIP.
111P.
[P.
11IP.

~ p < ,05

.05

26.47

»

»

Leng.
Leng.
Leng.

Leng.

(Pers.)

4190 (R2 = .4190)

ff »
EnvP.
EnvP. Sex
EnvP. Sex Ed.
14

ff »

.05

(Pers.)

» (R) »
1 » (R2)

(R2 change)

R R2 R=change
5145 2647 2647
.6473 4190 . 1543
6710 4503 .0313

6840  .4679 0176
6921 4790 0111

.6995 4893 .0103

» (Pens.)

2647 (R2 =.2647)

mIP.)

CHIP.)

41.90

»

74.8649*
74.6487*
56.2472*
45.0590*
37.5090*
32.4118*

»

ff

»

»
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»

»
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.1543)

(Leng.)

(Leng.)
(Pers.) -
45.03

3.13 (R2 change = .0313)

(111P.)
15,43 (R2 change
4503 (R2 = .4503)
] .05
1P .) (
(Leng.)
( 4679 (R2 = .4679)
.05
(Leng.)
(Pers.)
46.79

1.76 (R2 change = .0176)

(Sex)
(R2 = .4790)
(Sex)
(111P.)
47.90 (Sex)

(EnvP.)

(EnvP.)

(J11P.)

(EnvP.)

4790
) .05
(EnvP.) (Leng.)

(Pers.)

1.11 (R2 change = .0111)



(Ed.)
4893 (R2 = .4893)
.05 (Ed.) (Sex)
(Lens.)
(Pens.)
48.93

1.03 (R2 change = .0103)

(111P.)

(Ed.)

87

(EnvP.)
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() (B)

15 (
) b # (
|
( B b S.E.b. t
™ ( 3166 7977 1537  5.190*
4081 1.5738 2005  7.848*
1365  -.0261 0101  -2.570%
. 1499 6141 2232 2.751*

. 1050 3.5187 1.7341 2.029*

1183 4109 2033 2.022*
P = .6995 SE..q 119071
FT = 4893 a = 19.8789

Overall F = 32.4118*

* P < .05

15 a

.6995

( (Pers) (111P.)

(Len£.) (EnvP.) (Sex)

(Ed.)



(B)

B B = .4081) {
(B = .3166) (B = .1499)
B = -.1365) (B = .1183) B (B =
(111P.) il
[ {
(Pers.) (EnvP.) (Leng.)
(Ed.) (Sex) {

19.3789 + 1.5738 I111P + .7977 Pers + .6141 EnvP

<
1

-.0261 Leng + .4109 Ed + 3.5187 Sex

4081 111P + .3166 Pers + .1499 EnvP -.1365 Leng

N
I

+ .1183 Ed + .1050 Sex

39

«
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